3.10 Exploded Diagram and Parts List

HSINTON3

Product Specification Manual - Blue Ridge 300-|



Blue Ridge 300-I

# |ltem Description Qty
1 21388 20" X 12 1/2" X1 1/4" VERMICULITE BAFFLE 1
2 PL65514 SECONDARY AIR TUBE 4
3 PL34052 LINER FIXATION BRACKET 3
4 29010 4 1/2" X 9" X 1 1/4" REFRACTORY BRICK 3
5 129015 4'" X 9" X1 1/4" REFRACTORY BRICK 14
6 | 29004 4" X 41/2'" X1 1/4" REFRACTORY BRICK 1
7 29007 31/4" X 9" X 11/4" REFRACTORY BRICK 4
8 SE74044 34" X 50" REGULAR FACEPLATE 1
9 PL74045 FACEPLATE LEFT AND RIGHT SIDE PANEL 2
10 |PL74044 FACEPLATE TOP PANEL 1
11 | AC05959 | METALLIC BLACK STOVE PAINT - 342 g (120z) AEROSOL 1
12 | SE46323 BLUE RIDGE 3001 MANUAL KIT 1
13 |PL74192 DECORATIVE SIDE PANEL 2
14 | 30337 SQUARE HEAD SET SCREW 1/2-13 X 1-1/2" 2
15 | 30507 BLACK TORX SCREW WITH FLAT HEAD TYPE F 1/4-20 X 3/4" 4
16 | PL74033 ASH TRAY 1
17 | SE65559 | AIR CONTROL ROD ASSEMBLY 1
18 | AC07866 | 1/4" BLACK COIL HANDLE 1
19 | PL74017 GLASS RETAINER 2
20 | AC06400 3/4" X 6' FLAT BLACK SELF-ADHESIVE GLASS GASKET (AC-GGK) 1
21 |SE74190 GLASS WITH GASKET 15-3/4'" X 10-1/8"' 1
22 | SE74864 GLASS AND MOULDING KIT 1
23 | 30124 SCREW #8 - 32 X 5/16""' TRUSS QUADREX ZINC 10
24 | AC01298 | 5"0 FRESH AIR INTAKE KIT 1
25 | SE24346-2 | CAST IRON DOOR 1
26 | 44080 RHEOSTAT WITHOUT NUT (MODEL KBMS-13BV) 1
27 | AC0O7869 3/8" BLACK COIL HANDLE 1
28 | AC06500 |SILICONE AND 5/8" X 8' BLACK DOOR GASKET KIT (AC-DGKNCQ) 1
29 30025 1/4-20 X 1/2" PAN-HEAD QUADREX BLACK SCREW 2
30 |30187 STAINLESS WASHER ID 17/64" X OD 1/2" 2
31 30898 ROUND WOODEN BLACK HANDLE 2
32 |AC01315 |RIGID FIRESCREEN 1
33 | SE31318 DOOR HINGE REPLACEMENT KIT 1
34 60013 POWER CORD 96" X 18-3 type SJT (50 pcs per carton) 1
35 44085 RHEOSTAT KNOB 1

ENGLISH

Product Specification Manual - Blue Ridge 300-|




I
%)
3
O]
Z
L

# | Item Description Qty
36 |44028 CERAMIC THERMODISC F110-20F 1
37 44089 DOUBLE CAGE BLOWER 144 CFM 115V - 60Hz - 1.1A 1
38 |SE74193 INSERT BLOWER 1
39 | 30131 BLACK METAL SCREW #10 X 1/2" TYPE "A" PAN QUADREX 3
40 [49028 5" WHITE AIR INTAKE TERMINATION 1

Product Specification Manual - Blue Ridge 300-|





